

باز هم قضیه

دین فینسی

کتاب شماره ۲

۱۸۵۰

$$f(x) = \frac{x-1}{x} - \frac{x}{x-1} = \frac{x^2+1-2x-x^2}{x(x-1)} = \frac{1-2x}{x(x-1)}$$

①

$$D_f = (-\infty, 0) \cup \left[\frac{1}{2}, 1\right)$$

$$b) f(x) = \frac{1}{x+1} - \frac{x}{x}$$

$x+1 \neq 0 \rightarrow x \neq -1$ $x \neq 0$

$$\frac{x}{x-1} + \frac{1}{x+2} \rightarrow x-1 \neq 0 \rightarrow x \neq 1 \quad x+2 \neq 0 \rightarrow x \neq -2$$

$$\frac{x^2+x+x-1}{(x-1)(x+2)} \neq 0 \quad x \neq -\frac{2}{3} \quad D_f = \mathbb{R} - \left\{-1, 0, 1, -2, -\frac{2}{3}\right\}$$

$$f(x) = \sqrt{\left(\frac{1}{x}\right)^x - 9} \quad \left(\left(\frac{1}{x}\right)^x - 9\right)(3x - x^x) \geq 0$$

②

$$b) \sqrt{x-1} + \sqrt{y+1} = 3 \quad x-1 \geq 0 \quad x \geq 1 \quad D_f = [1, +\infty)$$

③

$$f(x) = \log_r(x^2 - x - 2) \rightarrow x^2 - x - 2 > 0$$

④

$$D_f = (-\infty, -1) \cup (2, +\infty) = \mathbb{R} - [-1, 2]$$

$x-1 \geq 0 \rightarrow x \geq 1$
s.a.m

$$\sqrt{x-1} + \sqrt{y+1} \geq 0 \rightarrow x \leq 12 \quad D_f = [1, 12]$$

$$\sqrt{r^2 + a^2 - ar} \rightarrow D = \left[-r, \frac{r}{a}\right] \quad a+b=? = \frac{r}{r} - \frac{1}{r} = 1 \quad (*)$$

$$-r = 0 \quad P_{\text{min}} = b \quad P = \frac{c}{a} = -r \quad b \times r = -r^2 \quad b = \frac{r}{r}$$

$$S = \frac{r}{r} - r = -\frac{1}{r} = \frac{1}{-r} = a \rightarrow a = -\frac{1}{r}$$

$$f(x) = \begin{cases} rx - r & ; x \geq 1 \\ rx + r & ; x < 1 \end{cases} \quad \text{ii) } g(x) = \sqrt{f(x) - x} ?$$

$$f(x) - x \geq 0 \quad f(x) \geq x$$

$$x < 1 \rightarrow rx + r \geq x \quad x \geq -r \rightarrow [-r, 1)$$

$$x \geq 1 \rightarrow rx - r \geq x \quad rx \geq r \quad x \geq 1 \rightarrow [1, +\infty)$$

$$D_f = [-r, +\infty)$$

$$f(x) = \begin{cases} a^2x + ra + x + r = (a+1)x + ra + r \\ (a+1)(x+r) & ; x \geq 1 \\ ra + rx & ; x < 1 \end{cases}$$

$$\rightarrow ra + r(-r) = ra - r$$

$$r f(x) = f(-r) + a \quad a = ? \quad va + v$$

$$r(a(a+1) + ra + r) = r(a^2 + a + ra + r) = ra + r = ra - r + a$$

$$ra + r = ra - r \quad \rightarrow a = -1$$

s.a.m

$$f(x) = \sqrt{x} + \frac{1}{\sqrt{x}} + r \rightarrow f(r-\sqrt{r}) + f(r+\sqrt{r}) = ? \quad (V)$$

$$\sqrt{r-\sqrt{r}} + \sqrt{r+\sqrt{r}} + r + \sqrt{r+\sqrt{r}} + \sqrt{r-\sqrt{r}}$$

* $r-\sqrt{r}, r+\sqrt{r}$ in square root

$$r(\sqrt{r-\sqrt{r}} + \sqrt{r+\sqrt{r}}) + r$$

$$Ar = r - \sqrt{r} + r + \sqrt{r} + r = 4 \quad A \rightarrow A = \pm \sqrt{4}$$

$$\therefore = r\sqrt{4} + r$$

$$r f(x) - r f(-x) = \sum x^r - x \times r \quad r f(x) - 4 f(-x) = 12x^r - 4x \quad (1)$$

$$r f(-x) - r f(x) = \sum x^r + x \times r \quad 4 f(-x) - 9 f(x) = 12x^r + 4x \quad (1)$$

$$f(x) = \frac{-12x^r - 4x}{\omega} \quad -\omega f(x) = 12x^r + 4x$$

$$f(x) = -\frac{1}{\omega} x^r - \frac{1}{\omega} x \quad 10x^r + 2x$$

$$(n+r) f(n) - r f(n+r) = \sum x^r - m x + r m - 1 \quad f(0) = ? \quad (9)$$

$$n=0 \rightarrow r f(0) = r m - 1 \quad f(0) = \frac{r m - 1}{r} = \frac{r \omega}{r} \times \frac{1}{r} = \frac{r \omega}{r^2}$$

$$n=-r \rightarrow 4 f(0) = 14 + r m + r m - 1 = \omega m + 1 \omega \rightarrow r f(0) = \frac{\omega}{r} m + \omega$$

$$\frac{\omega}{r} m + \omega = r m - 1 \quad \frac{r}{r} m = 4 \quad m = 9$$

$$f(x) + f\left(\frac{1}{x}\right) = \frac{r x^r - 12x + r}{x} = a x^r + r b x + a \quad \text{do g.o } f(x) \quad (10)$$

$$f(-1) = ?$$

$$f(x) = a x + b \quad f\left(\frac{1}{x}\right) = \frac{a}{x} + b \quad \downarrow \quad a = r \quad b = -4$$

$$f(x) + f\left(\frac{1}{x}\right) = a x + b + \frac{a}{x} + b = \frac{a x^r + b a x + a + b x}{x} = \frac{a x^r + r b a + a}{x}$$

s.a.m $f(x) = r x - 4$

$$\left\{ \begin{array}{l} f(-1) = -r - 4 = -9 \end{array} \right\}$$